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Question 1: CASH FLOW STATEMENT |16 MARKS)
The following information is available for the preparation of the cash flow of Mughal-e-Aazam
for the year ended December 31, 2012:
Net loss for the year Rs 64,000
Inventories increased by Rs 13,000
Income tax expense for the year was Rs 40,000 of which 70% was paid.
During the year, Rs 657,000 was received from customer.
Depreciation for the year Rs 85,000
Other current assets (of which 40% are cash balances) incre
Salaries paid during the year Rs 189,000
Long term investments worth Rs 70,000 were purchased on
{all received) was earned.
Net Fixed assets increased during the year by Rs 67,000
Current liabilities increased by Rs 7,000
Fixed assets sold for Rs 41,000 at a gain of assets Rs
Additional investment was made equal to the
Net Debtor decreased by Rs 57000. A proyisio
debtors.
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n. The remaining cash balance was

Required:

as oh January 1, 2009 were as follows:
y 60% depreciated) Rs 540,000
ube lights was double of the bulbs) 780,000

tup to March 31, 2009 45,000

32,000

e debtors {only for Tube lights) 410,000

; 360,000
| Bank 220,000

b. Mr. Tayyab has been earning a gross profit of 25 % on cost of Tube lights & 40% on sale
value of Bulbs. From the starts of the financial year, prices of both products were
increased by 20%. Also, Philips Co, increased the cost of bulbs by 50 % from the
beginning of the financial year. Sale of tube lights are made on credit while bulbs are
sold on cash basis,

C. Following is the summary of Bank transactions:
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Receipts from customer {tube lights) Rs 1570,000
Payments to Philips co (after availing cash discount Rs 30,000) 1310,000
Office stationary 42,000
Insurance {1 year starting 1 May 2009) 48,000
Rent 210,000
Equipment 120,000
drawings 358,000

d. Rent of the premises was increased by 30 % W.e.f. August 1 2009.

e.  The following payments were made by cash:

Repairs & maintenance

Rs 12,000 paid on 5" of each month. An incremé

July 1, 2009. His salary is paid by cash.
g. The value of closing stock was:
Bulbs
Tubeligh

are unpaid as on December 31, 2009.
’s tubelight

Rs.

. Opening finished goods {5400 units) 224 per unit
Opening raw material 740,000
Raw material purchases 775,000
Direct labour 612,000
Selling commission 116,000
Depreciation on plant 70,000
Other depreciation 50,000
Distribution cost 41,000
Factory supervisor salary 37,600
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Royalty on production 25,000
Royalty onh sales 35,000
Indirect labour 14,000
Indirect material consumed 45000
Other production overheads 84,000
Accounting costs 60,540
Other administration overheads 188,600

Other information are as under:
a. Depreciation to be allocated to manufacturing, administratiol

b
a.
C
a

0610 {dr) and Rs 46390 (cr) in account A and B respectively.
5. 4,500 and Rs. 7,850 deposited in “‘A” and ‘B’ respectively but were

respecively, cheques of Rs 43,000 and Rs 62,000 were collected by bank till December

31, 2012. Also, a cheque of Rs 8,000 deposited in account A was dishonored.

e. Interest on bank accounts not recorded in Bank book Rs 4450 and 340 for account A
and B.

f. All cheques issued during December 2012 were cashed by the respectively receivers,

however cheques of Rs 18,000 and 26,000 from account A and B issued in November

2012 are still unpresented.
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g. A payment of Rs 13,450 from B was mistakenly credited to account A as Rs 15340.

Required:
Draw the bank reconciliation statement for the above two accounts as on December
2012,

Question 6: DEPRECIATION |22 MARKS)
Lamboo Traders, a sole proprietorship, provides depreciation on plant and
per annum on diminishing balance method. On Jahuary 1, 2012 P
machinery and accumulated depreciation accounts were Rs.
respectively. It was discovered during 2012 that:
a. A machine which was purchased on October 1, 2008 for B5. 2

hinery at 25%

b. A machine costing Rs 175,000 which was pu
oh April 1, 2010 was depreciated in the bogks

a.
b. A machine costing Rs 60000
12000 on September 30, 2012

Required
Plant and mac
De r3
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Question1: CASH FLOW

MUGHAL-E-AAZAM
CASH FLOW STATEMENT
FOR THE YEAR ENDED DEC 31, 2012

Cash Flow From Operating Activities:

Net loss before Tax {64,000-40,000) (24,000}

Adjustment:
Depreciation 85,000
Decrease in provision for bad debts {3,000}
Gain on disposal of fixed assets {17,000}
Operating loss before working capital changes 41,000

Work Capital Changes:

Increase in Inventories

Decrease in debt

ors

Increase in other

current assets

Decrease in current liabilities

62,000
Tax Paid {28.000)
Net cash flow from operating activities 34,000
Cash Flow From Investing Activities:
Purchase of long term investment N Gy wf
Purchase of fixed assets {176,000
Sale proceeds from sale of fixed assets 41,000
Interest income 8,500
Cash flow from Investing a {196,500)
Cash Flow From Financing Activities: \
Additional Investment (\ . 196,500
Drawings \ N {20,000
Cash flow from Financinb@ctivities 176,500
Increase in Cash during the year N\ %, il 14,000
o FIXED s l ........... :.. OKVALUE
Opening balance - | Disposal 24,000
Addition (balancing) \ & 4 176,000 | Depreciation 85,000
Closing 67,000
QuestiomZ: |
DEBTORS - TUBELIGHTS
Opening Ralanc 410,000 Receipts 150,000
1,680,000 : Closing {balancing) 520,000
CREDITORS
1310,000 | Opening 360,000
30.000 | Purchases 1400,000
420,000
BANK
Opening 220,000 Payments 1310,000
Receipts 1570,000 | Office stationary 42,000
Amount balanced 438,000  Insurance 48,000
Rent 210,000
Equipment 120,000
Drawings 358,000
Closing balance 140,000
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CASH
Opening 10,000 ' Repair 86,000
Sales- Bulbs 807,000 ' Wages 124,000
Cash deposited {balancing) 438,000
Salary ( 12x7+15x5) 159,000
Closing 10,000
TUBELIGHTS BULBS
for opening stock  purchased
S 125 —> 150 100 —>{+20| 120 120
C 100 100 60 60 —>[+50%] 90~
P 25 25 40 40 3

A

Sales Tube lights:
1120,000x 150/100 = 1,680,000
Sales Bulbs:
Opening: 260,000x 120/ 60 = 520,000
Remaining: 215,250x 120 /90 =287,000
807,000
MR. TAYYAB
TRADING AND PROFIT
FOR THE YEAR ENDE

*IGHT BULBS

Sales 1,680,000 807,000
COST OF GOODS SOLD:
Opening stock 520,000 260,000
Purchases 980,000 420,000

Ciosing stock [380,000)  [204,750)

1120.000 475250

GROSS PROFIT 560,000 331,750
Total Gross Profit 891,750
Other Income:
....... 56,606
....... 55'000
32,000
............ 502 E60
| 86,000
........ ] 16'000
162,000
pquipment {540/0.4 + 120) x 10% 147,000
800,500
Net Profit 121,250
OF OPENING CAPITAL
ASSETS:
Equipment 540,000
Stock 780,000
Prepaid rent 45,000
Office stationary 32,000
Trade debtors 410,000
Bank 220,000
Cash 10,000
2037,000
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LIABILITIES:
Creditors 360,000
Wages payable 8,000
Salary payable 12,000
380,000
165,7000
MR. TAYYAB
BALANCE SHEET
AS ON DECEMBER 31, 2009
ASSETS
NON CURRENT ASSETS:
Equipment {540 +120- 147)
CURRENT ASSETS:
Stock Rs 584,750
Debtors 520,0
Preparerent {45+210-202.5) 2,5@
Prepaid insurance 3
Stationary 119,0
Bank .........................
Cash
1342,250
1,855,250
LIABILITIES:
Creditors
Salary payable 435,000
CAPITAL:
Opening 1,657,000
Net profj 121250
i {358,000) 1420,250
1855,250

2- FIFO:
Closing stock = 3,470 x 238 = 825,860

COST OF GOODS MANUFACTURED

RAW MATERIAL:
Opening material 740,000
Purchases 775,000
Available for use 1,515,000
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Closing stock {600,000
Stock lost {25,000)

Raw material used 820,000
Direct labor 612,000
Royalties on production 25,000

Prime cost 1457,000

Manufacturing Overhead:

Depreciation on plant

Other depreciation {50,000x2/5)

Factory supetvisor salary

Indirect labor

Indirect material

Other production labor

Closing work in process

Per unit 1,685,040 /7,080 = Rs 238 / unit

Question 5: BANK REC

BANK BOOKI-A
g) | Payment wrongly recorded 15340 c| \Jn Ij ce 132,000
k) it wiengly recorded 3,350
nor heque 8,000
Int 4,450
Balte s asbak. & % D (120,670]
Deposit wrongly recorded {7,850
Depositintrasit N WA 14,000
Un presented ch;dle {18,000)
___________________ djusted Balance (132,460)
BANK BOOK -B

a]  Unjdjustéd &ala§ AN\ B 65000 g] Payment 13,450

c)] Depositw T 3,350

e Interest QLN 340
Closing balance 55,240
b C per Pass book 46,390
c)] WUn Deposit 7,850
d] | DepoSikin transit 27,000
€] Un ented cheque {26,000)
Adjusted Balance 55,240

Question 6: DEPRECIATION

PLANT & MACHINERY
Unadjusted balance 780,000 a) Unrecorded disposal 210,000
a) | Cost not debited 80,000
al  Addition 240,000 b) Disp 60,000
Closing balance 830,000
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ACCUMULATED DEPRECIATION

Unadjusted balance 484,000
a) ; Disposal 115,408 . a) Additional
depreciation|{80,000x25%x5/12) 8,333
Excess depreciation 11,536
b) | Excess depreciation 14,356
b)  Disposal 28,770 Depreciation for the year 117,340
Closing balance 439,603

\W/1: Accumulated depreciation on disposal:
2008 210,000x 25%x 3/12
2009  196,875x25%

2010 147,656 x 25%
Correct 2011 110,742 x 25% x 7/12
incorrect | 2011 110,742 x 25%
Excess depreciation,

\X/2: Excess depreciation due to wrong date:
Wrong depreciation:

2009 | 175,000 x 25% x 3/12
2010 | 164,062 x 25%
2011

Correct depreciation:

2010 195,0
2011

\W/3: Accumulated dep on disp:

000) — (351,033 - 21,563) x25% = 65,133
590,000 - 329470 X25% =

240,000x25%x9/12 = 45,000
117.340
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